5 £ HOl |HOZ |HO3 [HO4 ([HOS |HOG6 |HOT (HOS |HO® |H10|H11 [H12|H13 |H14 |H15 | H14
R CBY | 12.4] 12.9] 12.2] 10.8) 0.1 9.8 10.1]| 10.2| 10.0| 9.8 9.%2| B.8| 8.5 8.8 8.2| 8.2
EH 12.8f 12.8} lo.9{ 9.7 9.4 8.5 10,00 10,6 4.7 9.0f &.9] 4.1 2.8 8.4 8.1 8.1
ik 13.4| 1a.8| 12.9] 12,3} 10.7f 9.7 9.8| 10.1| 10.5| 10.0f 10.8) 9.8 8.8 4.8 &.8| 8.3
SR 1.0 4.8 18.4( 11.2] 10.0) 1.7 10.%| 10.7| 9.7 9.4 9.0] 9.2 8.9 8.7 &.4| 8.8
G 11.2] 10.8F 10.2] 9.3] 3.1 8.4 10,1 10,8 &.7| 9.3 8.6 7.9 7.1 7.2 7.3 T.2
E 16.2) 15.5] 14.9] 1E.0] 10.2] 10.4| 10.3| 4.7 94| 9.2 9.1 BB 8.5 &0 &4 &3
FEE 160 18.8f 11.7( 10.9) 11.8] [2.5] 11.2] 11.7| 12.8 11.4( 10.%] 10.1 a.5| 9.8 4.4 4.8
i il 11.8f LL.0f 11.2f 18.1 4.9 10.2f 10.2( 10.8) 11.8] 11.5] 10.4| &.5| 11.2| 10.7( 4.2 4.8
i = 18.7] 14.4f 14.3[ 12.8] 12.8] 12.2} 12.7| 12.8| 12.8] 11.8| 11.8) 11.8] 11.1| 10,8 10.8| 4.3
] 14.7F 18.7) 14.1| 14.7F 18.8) 12.7) 1p.1f-1t.1) 11.6) 1&.4( 11.0) 10,7 9.1 9.8 8.1| 4.8
E8F 18.9) 16.4| 18,3 17.4] 12.0f 11,70 11.8( 11.1] 12.3] 11.2 11.0] 10.9] 12.1| 11.6] 10.8] 11.%
] 16.7] 15.3} 18.2| 11.1] 10.1| 10.0f 10.4| 10.8] 10.7] 10,8 10.6| 9.9 8.8 @&8.8] 3.1| 9.4
x5 11.3) 11.8] 11.7| 10.7} -9.9] 9.8 9.B| 10.0f 9.7 9.3 9.0| 8.2 7.8 7.4 74| B8
FE 128 12.7| 12.8f 11.8] 10.0) 10.1| 9.9 1008 9.7 9.7 9.4 9.4] 24| 8.8 8.8 &7
e 12.5) 18,5 12.7| 12.0] 10.8] 10.8] 12.5| 11.8| 10.6| 10.1| 9.4 8.9] 8.8 8.7 8.0 8.8
EE 14.2 15.4| 14.6( 15.7) 18.4] 13.8| 18.2| 11.8| 11.0f 49.8] 9.3] 8.2| 7.8 7.7 7.9 &.9
+i@ 11.6) 12.8) 12,6 11.50 11.1] 9.5 10.B|-16.7] 11:2| 12.7[ 84| 84| &:2 7.8 7.5 7.8
Fnanl 11.6f 14.8f 14.1( 1a.1] 11.8] L12.2} 12.7| 18.8] l4.8 12,86 11.7] 9.8 %.4| &.o0 7.4 ©.7
R 12.0] 1z.4] 11.8) 11.7] 107 t1.8] 11.8] 11.4] 10.5] 4.9 10.2 a.8] a8 a.z[ a.8] 3.6
b 18.1] 15.4| 15.4] 12.7] 12.8] 11.4| 11.3| 12.0f 21.8) 11.58) 11.0| 10.2] &.5 10.0f 10.5| 9.8
i 5. 14.4] 15.9] 14.8] 189} 13.2] 12.0f 12.9] 1%.2] 12.8] 11.7[ 11.8| 10.5%) 10.9] 10.7[ 4.5 10.%
EH 12.2f 12.5) 14.5( 18.0] 12.5) 10,8 11.3| 11.8| 9.1 9.3 10.8) 10.1] 10.4| 10,8 3.0 9.2
=R 12.4f 11.4f 10.2f 8.8} 8.2 9.1 9.2| 8.4 8.2 8.1 8.7 8.4 8.1| 8.3 3.3 10.8
Bl 12,8 11.5 1o.0] 7.8] 6.5 @.4| 8.7 8.8 9.8 7.% 8.2 @a.1| 8.0 &8 84| 8.0
EB 16.5{ 16.2 14.0f 12.8] 10.4] &.1| &.8| 9.5 12.1| 10.0f 9.2 7.7 7.8 7.8 8.2 4.7
g 15,8} 15.8} 16.2( 11.4) 10.1] B.8 &8.0| 7.8 71| 7.8 e&.2| 7.2 &.00 7.8 *T.8| &7
[ oLy 16,9 18,9] 18.1| 15.9] 12.8) 12.,0] 16.5( 11.7] 8.8 lo.1) 10.2 9.3 &.2| 9.7 10.3( 10,8
[-%.1] 10.8] 13.8] 13.2] 14.2] 8.1 4.0 11.5] 4.1 10.7] &.1| 10.4| 8.5 8.4 7.5 B.1| 8.2
s 8.8 e.8] 8.5 8.7 B.% e.1| 8.0 V.8l T.B| 7.9] 8.2 V.B[ 8.7 9.1] &1 9.8
Ha = 10.8f 10.8} 11.1| 9.5 3.4 7.8 &.%2| &.0| 7.3 6.8 7.2| B.8 E.2] B.3| B.5| E.B
B 14.0) 4.7 12.5) 0.7y 8.2 BBl B.2| a.8] 11.8) 11.%| 10.%) &.0| 8.7 7.0 7.8 &.7
o5 io.8f 1o.7f 12 9| lo.&} 1o.0) @.@| 10.0| @.8| @.8| e@.2f ed) &.7 7.8 8.7 &B.B| 87
ot d 18.4f 12,2 12,8 12.8) 12.0] 11.7| 11.8| 10.8| 10.8| 4.8 9.8 7.8 7.4 7.2 7.8 "6
il 7 1.9 124 1R 10.8) 10.8) 1o.&| 11.3) 111 ‘10:2 10.8f 9.8 @8 78| TR OT.B| &0
BRE 720 T.BF B0l RB O TLBp T.E| B4 T.B| BBl 8.8 B.T| B TB| 7.8) 8.5 B8
B 7.8} e,z e.2| e.0 7.3 7.8 el e.3] 7.2 7.8 ed| .8l .8 F.1| E.2| 8.2
A& 11.2] 15.5] 12.4| 9.8) 4.0 8.2] 6.8) 8.0 3.8 8.3 2.0 3.5 8.3 B.5 5.8| 6.0
s 15.0) 18.8) 18.1| 18.2) 11.0) 10.E| 10.8( 11.1| 10.5] 9.8 8.7 8.5 9.8 &.5% 8.8 8.1
_?i.E 11.2] 10.9f 104 8.7 &.9) 7.5 &.B| 8.4 9.8 9. 8.4 4.l BT &8 &8 4.
the 10.0f 10.4f 11.9f 11.4] 16.8] 10.2] 11.00 12.8| 1&.5| 12.%| 10.8) 10.9] 9.4| 8.4 11.1] 1001
g 12.7) 11.8{ 3.8} 3.8} 4.0| l0.4| 4.0 B.8 4.1 1o0.4( a8.3] 8.0] 10.1] 3.0 8.8 8.1
ihE 10,8} 10.8F 9.4| B.B} 7.8 T.B B.4| 8.8 ed| 7.4 TF.2| F.0| F.0f B.B) 8B T
EN 12,4 11.6f 11.7] 9.8 9.1] 9.2 @.g| &4 8.2 a.7 9.5] 48.8) 8.9) 8.2 ".1| 8.0
i, 10.8) 10.7| 10.8| @e.4| e.8) 7.0 E.9] 7.4 7.5] e.7| 6.8| 7.8 +7.8| 7.8 7.2| 6.7
[LES 2 10,4 11.1] 10.8) -8.3) 10.8] 11.8} 106 3.1 7.4| &.3( 8.8) 11.2] 11.3| 9.8) 7.8 5.8
AB I a.0f 14.38f 10.8f 11.0] 3.1 10.3| 15.8| 9.8 10.8( 9.0 9.1| B.§| EB.B| &.8] 5.2| 5.3
i 12.0f 12.8f 9.7 11.8] 9.5 8.1 9.9 4.8 4.7 6.8 11.5) 7.2] 7.7 G.6] 7.2 E.8
1 15.0f 15.8] 14.8f 12.5) 4a.4) 10.8| 9.8 4.7 2.0 7.8 &4 8.2 7.3] 8.1 8.8 4.l
=8 15.2; 16.4) 18.4| 15.2) 18.0) t2.1| 11.7| 12.9] 12.0)p 12.7| 12.4) 1%.8| 13.8 18.1) 12.8] 11.%
7 = 16.8f 18.1f 17.8] 15.8] 10.8] 10.7| @.2| 10,1 8.8 9.7 @9.9] 9.8 &.8) 11.1| 10,2 4.8
il 15.4) 14.4| 18.5] 14.7] 12.0) l0.8| 11.1| 10.2] @.2| 7.8 8.4 T7.3| 7.B| 7.8 7.7| 8.8
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